Profit and Loss Accounts


Morningside Plumbers LIMITED
Company Registration Number
07774666 (England and Wales)
Profit and Loss Account for the Period Ended 31st December 2013 - Profit
	
	 Notes
	2013
	 2012

	
	
	£
	£

	Turnover:
	1
	47,500
	8,270

	Cost of sales: 
	2
	29,800
	8,189

	Gross profit or (Loss)
	3
	
	  81

	Operating profit or (Loss)
	4
	
	  81

	Interest payable and similar charges:
	5
	410
	232

	Tax on profit or loss on ordinary activities:
	6
	
	 63

	Profit or (Loss) for the financial year:
	7
	
	250


The notes form part of the financial statements
1) Turnover is the invoiced sales for the Year less VAT recorded in the Monthly Accounts for a period of 12 months

2) Cost of sales represents all the costs like travel, telephone, company’s house, etc.

3) Gross profit or (loss) since Turnover less Cost of sales is positive there is a profit shown in figures.

4) The Gross profit or (loss) equals the Operating profit or (loss) since there are no overheads (variable costs) in the majority of small companies all costs are fixed.

5) Interest payable and similar charges represent the Bank Charges for clearing cheques or cash or card charges and interest on balances in the company’s bank account.

6) Tax on profit or loss on ordinary activities figure is rounded up or down and is 20% of the Gross profit or (loss) being £ plus £ making £ and the Tax on profit or loss on ordinary activities figure is £ rounded up or down to £.

7) Profit or (loss) for the financial year £ minus £ = £.
Merc Fish LIMITED
Company Registration Number
00225571 (England and Wales)
Profit and Loss Account for the Period Ended 31st December 2013 - Profit
	
	 Notes
	2013
	 2012

	
	
	£
	£

	Turnover:
	1
	21,100
	 8,270

	Cost of sales: 
	2
	12,500
	8,189

	Gross profit or (Loss)
	3
	
	      81

	Operating profit or (Loss)
	4
	
	       81

	Interest payable and similar charges:
	5
	  290
	     232

	Tax on profit or loss on ordinary activities:
	6
	
	     63

	Profit or (Loss) for the financial year:
	7
	
	   250


The notes form part of the financial statements
1) Turnover is the invoiced sales for the Year less VAT recorded in the Monthly Accounts for a period of 12 months

2) Cost of sales represents all the costs like travel, telephone, company’s house, etc.

3) Gross profit or (loss) since Turnover less Cost of sales is positive there is a profit shown in figures.

4) The Gross profit or (loss) equals the Operating profit or (loss) since there are no overheads (variable costs) in the majority of small companies all costs are fixed.

5) Interest payable and similar charges represent the Bank Charges for clearing cheques or cash or card charges and interest on balances in the company’s bank account.

6) Tax on profit or loss on ordinary activities figure is rounded up or down and is 20% of the Gross profit or (loss) being £ plus £ making £ and the Tax on profit or loss on ordinary activities figure is £ rounded up or down to £.

7) Profit or (loss) for the financial year £ minus £ = £.
Liberton IT Services LIMITED
Company Registration Number
02627262 (England and Wales)
Profit and Loss Account for the Period Ended 31st December 2013 - Profit
	
	 Notes
	2013
	 2012

	
	
	£
	£

	Turnover:
	1
	96,000
	8,270

	Cost of sales: 
	2
	64,000
	8,189

	Gross profit or (Loss)
	3
	
	  81

	Operating profit or (Loss)
	4
	
	  81

	Interest payable and similar charges:
	5
	   600
	232

	Tax on profit or loss on ordinary activities:
	6
	
	 63

	Profit or (Loss) for the financial year:
	7
	
	250


The notes form part of the financial statements
1) Turnover is the invoiced sales for the Year less VAT recorded in the Monthly Accounts for a period of 12 months

2) Cost of sales represents all the costs like travel, telephone, company’s house, etc.

3) Gross profit or (loss) since Turnover less Cost of sales is positive there is a profit shown in figures.

4) The Gross profit or (loss) equals the Operating profit or (loss) since there are no overheads (variable costs) in the majority of small companies all costs are fixed.

5) Interest payable and similar charges represent the Bank Charges for clearing cheques or cash or card charges and interest on balances in the company’s bank account.

6) Tax on profit or loss on ordinary activities figure is rounded up or down and is 20% of the Gross profit or (loss) being £ plus £ making £ and the Tax on profit or loss on ordinary activities figure is £ rounded up or down to £.

7) Profit or (loss) for the financial year £ minus £ = £.
Joe & Sons Ltd

Company Registered Number

332211 (England & Wales)

Profit and Loss Account for the Period Ended 31st December 2013 - Profit
	
	 Notes
	2013
	 2012

	
	
	£
	£

	Turnover:
	1
	9,000
	8,270

	Cost of sales: 
	2
	7,500
	8,189

	Gross profit or (Loss)
	3
	
	    81

	Operating profit or (Loss)
	4
	
	    81

	Interest payable and similar charges:
	5
	250
	  232

	Tax on profit or loss on ordinary activities:
	6
	
	   63

	Profit or (Loss) for the financial year:
	7
	
	250


The notes form part of the financial statements
1) Turnover is the invoiced sales for the Year less VAT recorded in the Monthly Accounts for a period of 12 months

2) Cost of sales represents all the costs like travel, telephone, company’s house, etc.

3) Gross profit or (loss) since Turnover less Cost of sales is positive there is a profit shown in figures.

4) The Gross profit or (loss) equals the Operating profit or (loss) since there are no overheads (variable costs) in the majority of small companies all costs are fixed.

5) Interest payable and similar charges represent the Bank Charges for clearing cheques or cash or card charges and interest on balances in the company’s bank account.

6) Tax on profit or loss on ordinary activities figure is rounded up or down and is 20% of the Gross profit or (loss) being £ plus £ making £ and the Tax on profit or loss on ordinary activities figure is £ rounded up or down to £.

7) Profit or (loss) for the financial year £ minus £ = £.
E&S Mini Market LIMITED
Company Registration Number
07774666 (England and Wales)
Profit and Loss Account for the Period Ended 31st December 2013 - Profit
	
	 Notes
	2013
	 2012

	
	
	£
	£

	Turnover:
	1
	35,500
	8,270

	Cost of sales: 
	2
	18,700
	8,189

	Gross profit or (Loss)
	3
	
	 81

	Operating profit or (Loss)
	4
	
	 81

	Interest payable and similar charges:
	5
	340
	232

	Tax on profit or loss on ordinary activities:
	6
	
	 63

	Profit or (Loss) for the financial year:
	7
	
	250


The notes form part of the financial statements
1) Turnover is the invoiced sales for the Year less VAT recorded in the Monthly Accounts for a period of 12 months

2) Cost of sales represents all the costs like travel, telephone, company’s house, etc.

3) Gross profit or (loss) since Turnover less Cost of sales is positive there is a profit shown in figures.

4) The Gross profit or (loss) equals the Operating profit or (loss) since there are no overheads (variable costs) in the majority of small companies all costs are fixed.

5) Interest payable and similar charges represent the Bank Charges for clearing cheques or cash or card charges and interest on balances in the company’s bank account.

6) Tax on profit or loss on ordinary activities figure is rounded up or down and is 20% of the Gross profit or (loss) being £ plus £ making £ and the Tax on profit or loss on ordinary activities figure is £ rounded up or down to £.

7) Profit or (loss) for the financial year £ minus £ = £.
Morningside Wines LIMITED
Company Registration Number
02725272 (England and Wales)
Profit and Loss Account for the Period Ended 31st December 2013 - Loss
	
	 Notes
	2013
	 2012

	
	
	£
	£

	Turnover:
	1
	23,000
	8,189

	Cost of sales: 
	2
	26,500
	8,270

	Gross profit or (loss)
	3
	
	 (81)

	Operating profit or (loss)
	4
	
	 (81)

	Interest payable and similar charges:
	5
	   475
	232

	Tax on profit or loss on ordinary activities:
	6
	
	--------

	Profit or (loss) for the financial year:
	7
	
	(313)


The notes form part of the financial statements
1) Turnover is the invoiced sales for the Year less VAT recorded in the Monthly Accounts for a period of 12 months

2) Cost of sales represents all the costs like travel, telephone, company’s house, etc.

3) Gross profit or (loss) since Turnover less Cost of sales is negative there is a loss amount shown in brackets.

4) The Gross profit or (loss) equals the Operating profit or (loss) since there are no overheads (variable costs) in the majority of small companies all costs are fixed.

5) Interest payable and similar charges represent the Bank Charges for clearing cheques or cash or card charges and interest on balances in the company’s bank account.

6) The Tax on profit or loss on ordinary activities is zero.

7) Profit or (loss) for the financial year is the sum of the Loss plus the Interest payable and similar charges being £ and £ = £
March Baths LIMITED
Company Registration Number
07774666 (England and Wales)
Profit and Loss Account for the Period Ended 31st December 2013 - Loss
	
	 Notes
	2013
	 2012

	
	
	£
	£

	Turnover:
	1
	75,000
	8,189

	Cost of sales: 
	2
	83,000
	8,270

	Gross profit or (loss)
	3
	
	 (81)

	Operating profit or (loss)
	4
	
	 (81)

	Interest payable and similar charges:
	5
	1,300
	232

	Tax on profit or loss on ordinary activities:
	6
	
	--------

	Profit or (loss) for the financial year:
	7
	
	(313)


The notes form part of the financial statements
1) Turnover is the invoiced sales for the Year less VAT recorded in the Monthly Accounts for a period of 12 months

2) Cost of sales represents all the costs like travel, telephone, company’s house, etc.

3) Gross profit or (loss) since Turnover less Cost of sales is negative there is a loss amount shown in brackets.

4) The Gross profit or (loss) equals the Operating profit or (loss) since there are no overheads (variable costs) in the majority of small companies all costs are fixed.

5) Interest payable and similar charges represent the Bank Charges for clearing cheques or cash or card charges and interest on balances in the company’s bank account.

6) The Tax on profit or loss on ordinary activities is zero.

7) Profit or (loss) for the financial year is the sum of the Loss plus the Interest payable and similar charges being £ and £ = £
Edin Java Dev LIMITED
Company Registration Number
09998777 (England and Wales)
Profit and Loss Account for the Period Ended 31st December 2013 - Loss
	
	 Notes
	2013
	 2012

	
	
	£
	£

	Turnover:
	1
	96,000
	8,189

	Cost of sales: 
	2
	108,000
	8,270

	Gross profit or (loss)
	3
	
	 (81)

	Operating profit or (loss)
	4
	
	 (81)

	Interest payable and similar charges:
	5
	2,000
	232

	Tax on profit or loss on ordinary activities:
	6
	
	--------

	Profit or (loss) for the financial year:
	7
	
	(313)


The notes form part of the financial statements
1) Turnover is the invoiced sales for the Year less VAT recorded in the Monthly Accounts for a period of 12 months

2) Cost of sales represents all the costs like travel, telephone, company’s house, etc.

3) Gross profit or (loss) since Turnover less Cost of sales is negative there is a loss amount shown in brackets.

4) The Gross profit or (loss) equals the Operating profit or (loss) since there are no overheads (variable costs) in the majority of small companies all costs are fixed.

5) Interest payable and similar charges represent the Bank Charges for clearing cheques or cash or card charges and interest on balances in the company’s bank account.

6) The Tax on profit or loss on ordinary activities is zero.

7) Profit or (loss) for the financial year is the sum of the Loss plus the Interest payable and similar charges being £ and £ = £
Churchill Curtains & Fabrics LIMITED
Company Registration Number
07875343 (England and Wales)
Profit and Loss Account for the Period Ended 31st December 2013 - Loss
	
	 Notes
	2013
	 2012

	
	
	£
	£

	Turnover:
	1
	38,000
	8,189

	Cost of sales: 
	2
	45,000
	8,270

	Gross profit or (loss)
	3
	
	 (81)

	Operating profit or (loss)
	4
	
	 (81)

	Interest payable and similar charges:
	5
	     780
	232

	Tax on profit or loss on ordinary activities:
	6
	
	--------

	Profit or (loss) for the financial year:
	7
	
	(313)


The notes form part of the financial statements
1) Turnover is the invoiced sales for the Year less VAT recorded in the Monthly Accounts for a period of 12 months

2) Cost of sales represents all the costs like travel, telephone, company’s house, etc.

3) Gross profit or (loss) since Turnover less Cost of sales is negative there is a loss amount shown in brackets.

4) The Gross profit or (loss) equals the Operating profit or (loss) since there are no overheads (variable costs) in the majority of small companies all costs are fixed.

5) Interest payable and similar charges represent the Bank Charges for clearing cheques or cash or card charges and interest on balances in the company’s bank account.

6) The Tax on profit or loss on ordinary activities is zero.

7) Profit or (loss) for the financial year is the sum of the Loss plus the Interest payable and similar charges being £ and £ = £
Blacks Furniture LIMITED
Company Registration Number
07774666 (England and Wales)
Profit and Loss Account for the Period Ended 31st December 2013 - Loss
	
	 Notes
	2013
	 2012

	
	
	£
	£

	Turnover:
	1
	56,000
	8,189

	Cost of sales: 
	2
	60,300
	8,270

	Gross profit or (loss)
	3
	
	 (81)

	Operating profit or (loss)
	4
	
	 (81)

	Interest payable and similar charges:
	5
	  900
	232

	Tax on profit or loss on ordinary activities:
	6
	
	--------

	Profit or (loss) for the financial year:
	7
	
	(313)


The notes form part of the financial statements
1) Turnover is the invoiced sales for the Year less VAT recorded in the Monthly Accounts for a period of 12 months

2) Cost of sales represents all the costs like travel, telephone, company’s house, etc.

3) Gross profit or (loss) since Turnover less Cost of sales is negative there is a loss amount shown in brackets.

4) The Gross profit or (loss) equals the Operating profit or (loss) since there are no overheads (variable costs) in the majority of small companies all costs are fixed.

5) Interest payable and similar charges represent the Bank Charges for clearing cheques or cash or card charges and interest on balances in the company’s bank account.

6) The Tax on profit or loss on ordinary activities is zero.

7) Profit or (loss) for the financial year is the sum of the Loss plus the Interest payable and similar charges being £ and £ = £
1

